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COMMERCE
(Honours Generic)

Answer the Questions from any one Option.

OPTION-A
( Microeconomics )

Paper : COM-HG-1016

OPTION-B
| (Investing in Stock Market)
Paper : COM-HG-1026
Full Marks : 80
Time : Three hours

The figures in the margin indicate
Jull marks for the questions,

Answer either in English or in Assamese.
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OPTION-A
( Microeconomics)

Paper : COM-HG-1016

1. (A) Answer the followmg questions :
‘ - 1x5=5
weR o] Oes ol s | |
(i) What is the shape of dem;nci
curve, if Ed = .
M Ed = « T, (5T Bifzw! (RUI" Wqﬂ%
@Cﬂ{iﬂ e
(ii) Mention a property of indifference
curve.

R @AR @61 of TR /|
(iii) What is production function ?
e Tew e [ @

(iv) Draw AR and MR under perfect
competition.

yﬁaf%mﬁwawmwmz

(R =B 10|
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(v) Who’s name is associated with
Revealed Preference theory of
consumer behaviour ?

2T SRR wf5 Wa”?ﬁ TERE
(I
(B) Choose the correct answer :  1x3=5

o7 BeI0H! ARH T4 ¢
i) ‘Price of the commodity is the
factor of Demand’. (True/False)
TR T (R0 BRI BAMAL
' (®%/ S‘{’W)
(i) Total cost is the summation of :

(d) Total Fixed Cost and Total
Variable Cost x

(b) Average Cost ahd ‘Marginal
Cost . .

(c) Real Cost and Money Cost

(d) Selling Cost and Opportumty
Cost

@me

(@) T T % P RSN
(b) 7T T I AT TN

(c) TSI AT @ IN

(d) R&E 7 =% JE I
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(ii) What is the root cause of Economic
Problem ?

(a) Investment.

(b) Saving

(c) Scarcity

(d) Population

ST PR a4 PR Rre
(@) REs

(b) XA

(c) Tfee

(d) TR

(iv) If the price of Lux is falling relative
to Rexona, then the demand for

(a) Lux will increase

(b) Rexona will increase

(c) Lux and Rexona will increase
(d) Lux and Rexona will decrease

I A W (AN NG T T,
o siftm Ak

(a) IR AGI

(b) AR ABI

() T AT {CAF A

(d) H NF (R I S|
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(v) Oligopoly market means

(a) competition among large
firms

(b) competition among few firms

() competition among few
buyers

(d) competition among buyers
and sellers

w5 dfSraferEs @ (A=

(@) - T ITATK Tere (A Aferaifier

(b) I WA IJFR NETS TR
afsraifiet

(o) W RYS ALFI AT (R
afscaifaret

() el 9% Rirer e @R
RIS

2. Answer the following questions : 2x5=10
o AP0 Bl fual 8

(a) Mention two important properties of
indifference curve.

fatere @R 7t of S )
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(b) Mention two conditions of expansion
path.

R 751 5 S |

(c) State two assumptions of Revealed
Preference theory s

TR AT TG EF/W%%WT o

(d) Write two measuring methods of price
elasticity of demand.

w4 Sivi fSeier 751 “fRTiorRe oafe B
(e) Define normal good with example.

BrIeTE FieiiRie 99 kel fa

3. Answer any four questlons given below :
5x4=20

wﬁmﬁmmwﬁﬁmwms

(a) Explain the bossibilities of price
_ discrimination under monopoly market.

IO ISNRE TIRTSHIFIR ASRAITO
R = /1

(b) State and explain the cross-elasticity
of demand.

iRV [T RBfeTae S IR P 1|
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(c) Analyze the ‘Prisoner Dilemma’
approach under oligopoly market.

55 foraronE TR RrawE SREn
vt Roagd =11

(d) What is economic efficiency ? How can
it be explained under monopolistic
competition ?

| e Tl P B @I T R
s AR TEiRe #IRk 4R, S
=

(e) Discuss deadwelght loss under
monopoloy market.

SCEAIoAl T4

() Mention the fundamental assumptions
of perfect competition.
s} eiferaeneRe ITW CNER SfSaRA
2! B | |

4. Answer from the following questions :
10x4=40

wos 2MTRDIT Tes ol ¢

(a) What is producer surplus ? Discuss
producer surplus in terms of average
variable cost curve and demand curve.

2+8=10

)
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TeATRISI T e & 3l 2 1w “AResvlen
IT @A T S (LR TGS BeAMHIN
Tg@ I 31 | |

or / 9qda

- Discuss equilibrium Price-output
determination of firm and industry

under perfect competition. 5+5=10

o eferaoRER TS JFIRT eSO e
oo Iy TN S 36 SR e Ram

o) (G S
(b) Distinguish between fixed cost and
variable cost. Explain short run total

cost curve in terms of FC .and VC.

3+7=10

%1 7 % ARSI T AR 7REA |
31 7 Oi% ARG IR YT TR
I W @ Ko =4
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Oor / 934!

What is long run average cost curve ?
Explain it in terms of short run
averages cost curves. 3+7=10

MR 16 JT @A I6E B e TR
AT I (AR LTS AT ST 1 |

(c) State and discuss the laws of return to
scale in terms of isocost line and

isoquant curves. ' 3+7=10
I JF F AT-SAR{R [T NGNS Afonig
RAG T IR e FA)

Or / 924

What is oligopoly market ? Mention its
basic features. Explain price leadership
model under such market. 2+3+5=1Q
75 Rorors T@R T & 3000 TR olgw
RRBPRR T 39 O IERE TS wy-
9y OGO Yt F4 |

(d) Discuss income effect and substitution
effect in terms of price-change. 10

T ARTET TGS ST Roli<s 11 Ry R
Rt G =i
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Or / 9!

Explain consumer equilibrium in terms
of indifference curve.

R (R NGTS (OIFR S WG
|
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OPTION-B
 (Investing in Stock Market)
Paper : COM-HG-1026

1. Answer the following questions : 1x10=10
were Al e Bey firmnl ¢

(@) Which of the following options is not
available in India ?

wete Rl oot R oieesde «ifie w23 |
() Commodity futures (¥ SRr®)
(i) Index options (35! )
(i) Index future (P! SRIS)
(iv) Commodity options (&J 552:))

(b) Which of the following statements is
valid for mutual funds in India ?

IReTHE AR R (IS TS WA oiwehy
Cf& ta4e

() Entry load is allowed

| A AT Sl

(i) Exit load is not allowed
A (TS St Al w=m
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(iij) Exit load is allowd in some cases
R corers ergi TS SRS ot 2
(iv) Entry load is riot allowed

() Forward contracts are traded only
through stock exchange.
(Whether the statment true or false)

SRl B g B R rererR @ Rem
= | - (CfeThr BT T uF)

(d) Insider trading can be .
(illegal only/both legal and illegal)

SRR AT
(SZ3%/ (94 W o L&UEEY)

(e) The sponsor of a mutual fund is similar
to the . of a company.

(i) director
(ii) shareholder
(iii) promoter

(iv) auditor
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AT e AT B @ T
AP | .

i) FALES
(i) S
(i) AREF .
(iv) o s
() Commodity derivatives are usd only for

hedging. ,
(Whether the statment true or false)

T OEP A (e (RfeiT AT IR =W |
(Sf&thr 9o 7 wm)

(99 When was NIFTY (National Stock
Exchange Fifty) established ?

TR NIFTY (SR 85 Riw fwh) g
I 2fEe

! i) 1992
(i) 1998
(i) 1996
(iv) 1994
(h) Write the full form of CARE.
CARE 3 9« So[tot foraii
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() Derivatives trading on equity broducts
were introduced in Indian capital
market in June (2000/2001)

TN TS 8T TG (0 3l AT SO
YR TGS 5RO RS A& I
Eull © (R000/300))

() On which date SEBI made compulsory

' trading of shares of all the companies

listed in stock exchange in ‘demat’
form?

mﬂz‘t‘:‘t@rﬁ% SEBmwatﬁatﬂmm

FAR (S SIAIeE =i reE e’
T AW IAGOIET I |

() 2nd January, 2000
R ﬁﬁ:{ﬂ@, 3000 &’
(i) 1st April, 2002
S «fdie, Y00} 5
(iii) 1st April, 2005
S «fgie, R00¢ 5
(iv) 2nd January, 2002

- WA, k00) BH
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2. Answer the followmg questlons in not more
 than 50 words each : 2x5=10

woTe Al e ereRE 3!1? @o Bt A *q foove
Beq fmt s |
(a) What are the major stock indices in
India ? .
OITeIAT BT JpR AU AP fo e

(b) What is meant by the term
‘investment’ ?

RRC fewe & e

(c) Méntion two advantages of investment

in mutual fund.
T FRore RACIR £ 7R4 S
(d) What is meant by stock order ?
B SIGR I [ @l
() Give the meaning of the termy
‘derivative’,

TP AT Acet a1
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3. Answer any four of the following questions
in about 200 words each : . S5%x4=20

©od [zt ifan oS ATORE AiF 00 B TN
3 fooge Tex ol ¢

(a)

(b)

(c)

(d)

(e)

Distinguish between open ended and
close ended mutual fund.

& AR W% 37 AR (O R wiy
T

Give a brief note on significance of NAV
in mutual fund scheme.

Srzei T SIPFS NAV T ¢F¢ Tifs
«ft Gt forat

What is the significance of moving
average ?

e qerReR Sles & Fte

Explain the different drawbacks of

derivatives.

Bgp wRe Rfen ACIRITRE 3 =11

What is the meaning of options ? State
the features of an option contract.

A 2t Rew SR I & 3@ 2 A
A Ry i RMEPRR fomi
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() What are the benefits of online trading
of stock ? Explain.

WWWqﬁwﬁﬁ?a®W|

4. Answer the following questions : (@any four)
10x4=40

wers TRl PRI et sy Bad Bl ¢

(@) Stock market reflects the general
economic conditions prevailing in the
country and hence, it is considered as

the economic barometer of a country.
Discuss.

9 OTR Y Wit SR 8T Wi
AfOFETS T, G T o 9IRS
MAS A QIR 37 @t 27 | S 51

(b) Give the concept of risk. What are the
various risk associated with investment
in securities market ? Explain.

2+8=10

TR TP LRG| a1t #1g T

RfcR crae 1AW Rt RRA Rt speieay
QR & & 3t w1
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(¢) Discuss the various sources of financial
information needed to take a sound
1nvestment demsmn*

ﬁﬁﬁmﬁﬁmaﬁmwﬁmmm
Rfen mﬁ@awﬁ‘mﬂw@ﬁw
|

(d) Briefly discuss the various types of
investment avenues available for the

~r
O}

investor. o
RNCAIRIRR AR Toters Rfw s Rz
CFePTE TR SISl 31

(e) Describe briefly the various types of
mutual funds available for 1nvestment

RNceR AR od R eﬁsﬁa TZoR
Afer iefeed o 4 |

() What is derivative ? State the
advantages of derivative trading. Who
are the participants of ~derivative
market ? 2+4+4=10

Raizrete 3t Bub 7R 2 BB 4t Raizree
IR FRYPR & 52 T A Raizrehe
TERT SHEIFIIPRR (T2
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(g) Brlefly explain the mechanism of
trading in currency derivatives.

Wﬁt@aﬁc@ﬁ?@qmm @‘Wrzmr
e

(h) What is’ company - analysis ? Who are

the user of company analysis ? Discuss.
3+7=10

mﬁtﬁm«tﬁs? canw»nﬁtﬁmw
IR AT @2 TG |
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